Section 2.7 Handout Example Index of Coincidence

Suppose we receive the message

"GLAGP SOVXW GHZVO VLAVF WBMPI MGKWP ZHUUG MAGWQ LIKFK JWHWC SGUCI JYEKL SVWFL MGOES GWLEX HHZCZ MNYTN STUSM YHWVS DHMSD AAMGE YQHQO PRYNL RDIBW IRETJ GURXT GFWYS DPINB JGCPI HGPPV SVIDS RORML RAAGP AIFLO XTHWJ LRBGR PVSUI AJXPK CWCPW LKTDH SPDXE BHKIW GKHRA BJRAX JRHKS SWPEH VOSAV XZUIQ WAFWP VCVIW ZHZWU BSUVB CMCXW HGMWB IQERE XZAOQ AEDED SGKSU DWDOJ HEREX ZVWPW EDYPV WVMSS YKFHB JOMKI OUQYM LAAAC VXPGP AFTXP HSGZU IQMNL AAKCU PDLAW HKRYL VUHCK BSUJA AORFP ESGKT TBSUZ TRSHR ESCRK IFVIL XWKMC XJEWE HIQNC WWEHR CBSUH NJY"
Using Maple, we can generate the following frequency table for the letters in this message:
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This gives 
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 total letters. Thus the index of coincidence is:
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Since 0.04116 is much closer to 0.0385 than 0.065, the cipher is likely polyalphabetic.
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